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Session02

Question 1
5 Minutes allowed for this question. [Non Calculator]

Homeowners Sue and John have asked Bertthe builder to construct a boundary wall between their
house andtheirneighbours. The totallength ofthe wallwillbe 19m. Usingthe dimensionsonthe
diagram below, calculate the amount of reinforced concrete and concrete binding which Bert will need
to construct the foundations of the wall.

Multi Red Facing Brick Wall ~———— ——

Reinforced Concrete

0.45m
0.05m
l———— Concrete Binding
—— Re-enforcement Bars
What is the total area the foundation covers?
................................................................................................................................................................................ m?
What is the total volume of reinforced Concrete?
................................................................................................................................................................................ m?
What is the total volume of Concrete Binding?
................................................................................................................................................................................ m?
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Question 2
10 Minutes allowed for this question. [Calculator Allowed]

Sue and John have decided they also want to construct a swimming pool in their back garden. The
Architects have designed the pool and have now sentitto Direct Swimming Pools UK for pricing.

You will need to use drawing No.1 to complete this question.

A) Usingthe measurements provided whatis the total volume of earth that requires excavating?

................................................................................................................................................................................. m
B) The base ofthe swimming pool will requrie a specialist membrane. What is the total coverage
required?
................................................................................................................................................................................ m?
C) Suehasdecidedthatshewantsthe swimmingpooltobe ceramictiled. Whatisthetotalareaof
ceramic tiles required? You will need to allow for both wall and floor.
................................................................................................................................................................................ m?
D) Based onthe percentages below what amount of each ceramic tiles per m2 willneed to be
ordered?
34%BIUEWASN COIMAICTIIES. ... ettt bbb et b b s m?
269 DarkBIUE CeramMICTIlES ....oiviieiieiiitisie ettt bttt sttt e b bt et ne e m2
40% White Wash CeramiCTIlES .......oouiiiiiereee ettt ee e e e sbeaneeeeneas m2
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Question 3
15 Minutes allowed for this question. [Calculator Allowed]

Johnhasnoticedthattherooftotheirhouseisleaking. He hasdecidedto havetherooffixed butis
unsure ontheamountof materials thatwill need to be ordred. Whilstlooking for materials, John
noticed that there was an offer on new loft insulation so has decided to install this too.

You will need to use drawing No. 2 to complete this question.

A) Whatis the total area of roof coverings that John will need to order?

................................................................................................................................................................................. m?
B) Johnhasdecided he wants to use Marley Pan tiles. If they cost 111.78 per m2how much are
these roof coverings going to cost John?
Lottt 11111 L 11 b e e
C) How many ridge tiles will be required on the roof given there are 3 ridge tiles perm?
................................................................................................................................................................................. Nr
D) Whatisthe total Area ofloftinsulationrequired? Youwillneed to make adeduction forthe
joists in the roof which are 0.05m wide by 10.0m long. There are 12 joists in total.
................................................................................................................................................................................ m?
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